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vier breuken, decimalen, volgorde van bewerkingen
met haakjes
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Datum: Score:

1 1
~x8+4-3(=+5,6)=
4 (3 b )
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20(z+-)+5%x3-3,9=
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4,8+2(4—-2,6)=

5,5% 10+2+5(4,2 +3,3) =
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Naam: Datum: Score:
3 1 131 11 1 1 173 3
T+ =+2.4)= — =6— Zx8+4-3(=+ =(——)=(-17=
3 725124 = 55 =65 3 874733 +5.0=C37) = Cl75)
2 3 3 61 1
Z—43)x5-4,5=(-24 24 x24+Z =(——)=(—6—

(5 ,3) ,5=(-24) (5 ,4) % > ( 10) ( 610)

1 23 2 1 1 1

242=+2,5)="—=7= 20(= + =)+ ~3,9=_

(3 ,5) 3 3 (5 6) 5x3-3,9 5

3 1. 79 9 38 3

4.2%x6+3-2(=— =)= — =T— 4,8+24-2,6)= —=7=

’ (4 2) 1 10 ’ (4-2,6) 5 75
(§+1)X5_1:ﬂ:51 5,5%x10+2+5(4,2+3,3)= 65

5 2 3 6 6
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